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    Part – III    Time : 1½  Hours 

   MUSIC Cool-off time : 15 Minutes 
  Maximum : 40 Scores 
  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 
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SECTION-A 
 Answer any 4 questions from 1 to 5. Each carries 1 score.   (4  1 = 4)  
 

1. Select the tala which have five aksharakala duration. 
 (a) Tisra Chapu (b) Khanda Chapu 

 (c) Misra Chapu (d) Sank
–
irna Chapu 

 

2. Two varieties of ‘gita’.   
 

3. The first tala among sapta talas. 
 

4. Inventor of 72 Melakartha Scheme. 
 

5. The system of notation used in Indian music.   
 

SECTION-B 
 Answer any 3 questions from 6 to 9. Each carries 2 scores. (3  2 = 6) 
 

6. Compare melodic and harmonic systems of music.  
 

7. Mention the Svarasthanas of the raga ‘Mayamalava gaula’.  
 

8. Name the five Sthayis in Indian music.  
 

9. Write down the angas, aksharakalas and mode of reckoning of ‘Adi tala’. 
 

SECTION-C 
 Answer any 5 questions from 10 to 15. Each carries 4 scores. (5  4 = 20)  
 

10. Describe briefly the therapeutic value of music.  
 

11. Gamakas play an important role in Indian music. Substantiate. 
 

12. Describe the application of Katapayadi formula to find out the serial number of mela 
ragas.   

 

13. Explain Shadangas with symbols and aksharakalas. 
 

14. Compare Jatisvaram and Svarajati. 
 

15. Prepare a short note on the contribution of Purandaradasa in the field of music. 
 

SECTION-D 
 Answer any 2 questions from 16 to 18. Each carries 5 scores. (2  5 = 10)  
 

16. Mention the distinctive features of Indian music and give brief description on any two 
of them.    

 

17. Enumerate the contribution of Swati Tirunal to Carnatic music.  
 

18. Notate a ‘gitam’ you have learnt. 
__________ 
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 –  
 1  5    4  .                            

1  .  (4  1 = 4)  
 

1.     . 
 (a)   (b)   
 (c)   (d)   
 

2. ‘’  .    
 

3.   . 
 

4. 72   . 
 

5.      .  
 

 –  
 6  9    3  .                   

2  .  (3  2 = 6) 
 

6. -   .  
 

7.     .  
 

8.      .  
 

9.     .  
 

 –  
 10  15    5  .              

4  . (5  4 = 20)  
 

10.     .  
 

11.       . .  
 

12.     - 
 .    

 

13.       .  
 

14.    .  
 

15.       .  
 

 –  
 

 16  18    2   .  
5  . (2  5 = 10)  

16.       
  .  

 

17.        
.  

 

18.       .  
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Reg. No. : .....................................  FY-40 

Name : .........................................   
   
 

 
  Part – III    Time : 2 Hours 

  GANDHIAN STUDIES Cool-off time : 15 Minutes 

      Maximum : 60 Scores 
 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

   . 

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020 
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PART – A 

 Answer any 4 questions from 1 to 5. Each carries 1 score. (4 × 1 = 4) 
 

1. Identify the person, who advised Mohandas to repeat ‘Ramanama’ as a solution for 
his fear of ghosts. 

 (a) Rambha (b) Putlibai 

 (c) Karamchand Gandhi (d) Uttamchand Gandhi 

 

2. In 1922, Gandhiji suspended the non-cooperation movement due to an unfortunate 
incident. Identify the incident.    

 (a) Jallianwala Bagh (b) Kheda 

 (c) Champaran (d) Chauri-Chaura 

 

3. Find out the name of the religion related to Anekanthavada. 

 (a) Hindu (b) Jainism 

 (c) Buddhism (d) Christanity 

 

4. Name the person who wrote “On the duty of Civil Disobedience”. 

 (a) Ruskin (b) Tolstoy 

 (c) Thoreau (d) Carpenter 

 

5. Find out the central principle of the Bhagavat Gita. 

 (a) Truth  (b) Non-Violence 

 (c) Eight fold path (d) Nishkamakarma 

 

6. Match the items of column A with B.   (4 × 1 = 4)    

A B 

(a) Ruskin Antiwar Satyagraha 

(b) Indian opinion Non-Violent action 

(c) Vinoba Bhave News Paper 

(d) Gene Sharp Unto this last 
 



FY-40  3 P.T.O. 

PART – A 

 1  5    4  .                   
1  .   (4 × 1 = 4) 

 

1.      
      .  

 (a)   (b)   

 (c)    (d)    

 

2. 1922        
 .    .  

 (a)     (b)  

 (c)  (d)    

 

3.      .  

 (a)   (b)   

 (c)  (d)  

 

4. “      ”   . 

 (a)  (b)   

 (c)   (d)   

 

5.      ? 

 (a)  (b)  

 (c)  (d)  

 

6.   :   (4 × 1 = 4)    

A B 

(a)      

(b)       

(c)      

(d)      
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PART – B 

 Answer any 6 question from 7 to 14. Each carries 2 scores. (6  2 = 12) 
 

7. Mention any four features of Bhakti Movement.  

 

8. Write down an incident showing the truthfulness of Gandhiji during his childhood.   

 

9. Analyse the influence of Putlibai on M.K. Gandhi.  

 

10. Distinguish between relative truth and absolute truth. 

 

11. Write any four qualifications of a Satyagrahi.  

 

12. Identify any two elements of state, and briefly explain. 

 

13. Prepare a brief note on Appropriate Technology. 

 

14. Sarvodaya Society is free from seven social evils. List out any four. 
 

 

PART – C  

 Answer any 4 questions from 15 to 20. Each carries 3 scores. (4  3 = 12) 
 

15. List out any six features of Indian Culture. 

 

16. Analyse the influences of London Vegetarian Society on M.K. Gandhi.  

 

17. Briefly explain Champaran Satyagraha.  

 

18. “Sarvadharma Samabhava” can be considered as the only means to solve the 
communal problems. Do you agree with this ? Substantiate your arguments. 

 

19. Trace out any three difference between Satyagraha and passive resistance.   

 

20. Point out any six major economic concept of Mahatma Gandhi. 
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PART – B 
 7  14    6  .               

2  .   (6  2 = 12) 
 

7.     4  .  
 
8.       

.  
 
9.   ..      .  

 
10.      .  
 
11.      .  
 
12.        

.  
 
13.      .  
 
14.       . 

   .  
 

 
PART – C  

 15  20    4  .             
3  .   (4  3 = 12) 

 

15.      .  
 
16.    ..   

.  
 
17.     .  
 
18.       . 

   ?   .  
 

19.       
.  

 

20.        
 .  
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PART – D 

 Answer any 4 questions from 21 to 26. Each carries 4 scores. (4  4 = 16) 
 

21. Evaluate the programmes suggested by Gandhiji to tackle the problem of alcoholism 
and analyse its relevance. 

 

22. Kumarappa classifies five types of economics in nature. Explain any four. 

 

23. Prepare a brief note on Gandhi’s “Last Will Testament.” 

 

24. Critically evaluate Gandhi’s views on Ends and means. 

 

25. Evaluate the relevance of Vaikoum Satyagraha.  

 

26. Prepare a brief note on Phoenix settlement and Tolstoy Farm. 

 

PART – E 

 Answer any 2 questions from 27 to 30. Each carries 6 scores. (2  6 = 12) 
 

27. Gandhiji played an important role in Indian freedom struggle. Do you agree ? If so, 
substantiate your arguments. 

 

28. Identify any six Ashram vows proposed by Gandhiji and critically evaluate it.   

 

29. What do you mean by Village Swaraj ? Explain its basic principles ?    

 

30. Economic inequality is one of the major problems faced by world. Do you think 
Trusteeship is a solution for it ? Substantiate.  

_____________ 
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PART – D 
 21  26   4   . 4  .  

       (4  4 = 16) 
 

21.        
  .  

 

22.       
.    .  

 

23.        
.  

 

24.      
 .  

 

25.     .  
 

26.        
 .  

 

PART – E 

 27  30    2  .              

6  .   (2  6 = 12) 
 

27.         
   ?   .  

 

28.        
.  

 

29.       ?   
 .  

 

30.       .  
     ? .  

_________ 
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 
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 Answer any 8 questions from 1 to 9. Each carries 1 score. (8 × 1 = 8) 
 

1. Identify the given proposition  

 ‘Orange is either a colour or a fruit.’ 

 (a) Conjunctive proposition (b) Alternative proposition 

 (c) Implicative proposition (d) Hypothetical proposition 

 

2. Find the next number :  

 31, 29, 24, 22, 17,     ?     ____________. 

 (a) 15  (b) 14 

 (c) 13  (d) 12 

 

3. The symbol ‘’ is a _________. 

 (a) Variable (b) Truth function 

 (c) Logical Operator (d) None of the above 

 

4. ‘Drinking leads to liver cirrohsis.’ 

 Here cause is used in the sense of _________. 

 (a) Necessary condition 

 (b) Sufficient and necessary condition 

 (c) Sufficient condition 

 (d) None of the above 

 

5. Rahul observes a rainbow over the mountains.  

 This is an example for ________. 

 (a) Natural Observation (b) Controlled Observation 

 (c) Structured Observation (d) None of the above 
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 1  9    8   .            

1  .   (8 × 1 = 8) 
 

1.    .  

 ‘Orange is either a colour or a fruit.’ 

 (a)   

 (b)   

 (c)   

 (d)   

 

2.    .  

 31, 29, 24, 22, 17 _________. 

 (a) 15  (b) 14 

 (c) 13  (d) 12 

 

3. ‘’    _________ .  

 (a)   (b)    

 (c)    (d)  

 

4. ‘   ’ 

    _________    .  

 (a)   

 (b)   &    

 (c)    

 (d)  

 

5.     .  

  ________  .  

 (a)   (b)   

 (c)   (d)  
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6. All birds lay eggs.  

 Swan is a bird.  

  Swan lays eggs. 

 The given argument is an example for __________. 

 (a) Education (b) Mediate inference 

 (c) Immediate inference (d) None of the above 

 

7. In Subalternation, if universal proposition is true, particular proposition is _______. 

 

8. The meaning of the word ‘Research’ is _________. 

 

9. When a hypothesis is both verified and proved, it is called ________. 

 

 Answer any 5 questions from 10 to 15. Each carries 2 scores.  (5 × 2 = 10) 

10. Observe the given picture and frame two hypothesis. 

  
 

11. Reduce the given sentence to logical form ‘Indians are mostly vegetarians’. 

 

12. Logic and ethics are normative sciences. Identify the differences between them. 

 

13. Suggest any two researchable problems. 

 

14. If ‘P’ is False and ‘Q’ is True, find the truth value of the following : 

 (p ≡ q) Vq  

 

15. List out any four requirements of a sound observation. 
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6. All birds lay eggs swan is a bird,  Swan lays eggs 
    __________    
 (a)  (b)    
 (c)   (d)  

 
7.      

   _______ .  
 
8. ‘ ’    _________ .  
 
9.      

   ________  .  
 
 10  15    5  .          

2  .   (5 × 2 = 10) 

10.      .  

  
 
11.      .  
 ‘Indians are mostly vegetarians.’ 
 
12.    ,    

.  
 
13.     .  
 
14. ‘P’  False  ‘Q’  True      

 : 
 (P ≡ Q) Vq  
 
15.     .  
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 Answer any 4 questions from 16 to 20. Each carries 3 scores.  (4  3 = 12) 

16. Analyze J.S. Mill’s definition of cause. 

 

17. Find out the mood and figure of the given syllogism.  

 All philosophers are honest.  

 No Criminals are honest. 

  No Criminals are Philosophers. 

 

18. List out the characteristic features of Science. 

 

19. Find out the partial and full contraposition of the given proposition. 

 ‘All animals are mammals.’ 

 

20. Briefly describe any three sources of hypothesis. 

  

 Answer any 5 questions from 21 to 26. Each carries 4 scores.  (5 × 4 = 20) 

21. Explain the four causes of the given picture according to Aristotle’s view of cause. 

    

 

22. Meera believes that it is a bad omen to start journey on Tuesday.  

 (a) Identify the source of knowledge behind this belief. 

 (b) List out the limitations of this source. 
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 16  20    4  .          

3  .     (4  3 = 12) 

16.  ..     .  
 

17.   ,   .  
 All philosophers are honest  

 No Criminals are honest 

  No Criminals are Philosophers 

 

18.    .  
 

19.    ,  
   .  

 ‘All animals are mammals’. 

 

20.     .  
  

 21  26    5  .            
4  .   (5 × 4 = 20) 

21.       
   .  

 
 

22.         
.  

 (a)      .  

 (b)    .  
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23. Illustrate any two types of hypothesis. 

 

24. Change the following proposition into symbolic form and construct a truth table for it. 

 ‘If it rains then the cricket match will be postponed.’ 

 

25. Differentiate two types of Mal-observation with suitable examples. 

 

26. Classify the given propositions as subject – predicate, class membership, general and 

relational.   

 (a) All painters are artists. 

 (b) E.C. Sudarsan is a Scientist. 

 (c) The book Symbolic Logic is written by Irving M. Copi. 

 (d) Pista icecream is very tasty. 

  

 Answer any 2 questions from 27 to 29. Each carries 5 scores. (2 × 5 = 10) 

27. Prepare a flow-chart showing the branches of Philosophy.  

 

28. Elucidate the steps of Scientific method. 

 

29. Draw Square of opposition and explain contradictory  relation of propositions. 
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23.       .   

 

24.        

 . 

 ‘If it rains then the cricket match will be postponed.’ 

 

25.   -    

.  

 

26.    ,  , 

,   .  

 (a) All painters are artists 

 (b) E.C. Sudarsan is a Scientist 

 (c) The book Symbolic Logic is written by Irving M. Copi. 

 (d) Pista icecream is very tasty. 

  

 27  29    2  . 5 

 .   (2 × 5 = 10) 

27.       .  

 

28.    .  

 

29.        

.  
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 Answer any 2 questions from 30 to 32. Each carries 6 scores. (2  6 = 12) 

30. Give an account of Aristotle’s ‘Laws of thought’.  

 

31. Explain Euler’s Circles with examples. 

 

32. Research is a systematic study of finding solutions for a problem. Discuss the 

different stages of research. 

 

 Answer any 1 question from 33 to 34. Carries 8 Scores. (1  8 = 8) 

33. Traditionally propositions are classified as categorical and conditional. Explain 

categorical and conditional propositions with examples. 

 

34. A syllogism which contains propositions of different kinds is known as Mixed 

Syllogism. Disjunctive syllogism is a mixed syllogism. 

 (a) Write the rules of disjunctive syllogism. 

 (b) Explain the types and fallacies of disjunctive syllogism.  

____________ 
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 30  32    2  .           

6  .   (2  6 = 12) 

30.    .  

 

31.     .  

 

32.       
.     .  

 

 33  34    1   .         

8 .    (1  8 = 8) 

33.      
 .   
    .  

 

34.       
.     .  

 (a)    .  

 (b)        
 .  

____________ 
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   Part – III    Time : 2 Hours 

  SOCIAL WORK Cool-off time : 15 Minutes 
  Maximum : 60 Scores 
 
 

 
     

 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020 
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Section – A 

 Answer all questions from 1 to 8. Each answer carries 1 score. (8  1 = 8) 
 

1. Children in conflict with law are dealt by _________ 

(a) Child Welfare Committee (b) Juvenile Justice Board

(c) Child line (d) Criminal Court  
 

2. The book “Social Diagnosis” is written by _________ 

(a) Virginia Robinson (b) Mary Richmond

(c) Florence Kelly (d) Fried hander 
 

3. Among the following which is not an objective of social work. 

(a) To Solve Psycho Social Problems 

 (b) To fulfill humanitarian needs

(c) To resolve adjustmental problems 

 (d) To make the client dependant on Social Worker 
 

4. United Nations General Assembly has made Universal Declaration of Human Rights 
on _______ 

(a) 10th December 1948 (b) 26th January 1948

(c) 1st December 1947 (d) 15th August 1947 
 

5. The Social groups characterised by intimate, face to face relationship are called ______. 

(a) E groups (b) Primary group

(c) Secondary group (d) Reference group 
 

6. A women committing suicide due to the death of her husband is an example of _____ 
suicide. 

(a) Anomic (b) Altruistic

(c) Egoistic (d) Fatalistic 
 

7. The process in which information is encoded, stored and retrieved is called ______ 

(a) Perception (b) Memory

(c) Learning  (d) Intelligence 
 

8. The merit and demerit analysis of different options in our life can be termed as 
______ 

 (a) Creative thinking (b) Critical thinking 

 (c) Concrete thinking (d) Abstract thinking 
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Section – A 
 1  8    . 1  . 
      (8  1 = 8) 
 

1.      ________ 
. 
(a)   (b)   
(c)   (d)   

 

2. “ ”    _________ . 
(a)   (b)  
(c)    (d)  

 

3.       
 ? 
(a)     

 (b)   
(c)    . 

 (d)    . 
 

4.       
_______ 
(a) 1948  10 (b) 1948  26
(c) 1947  1 (d) 1947  15 

 

5.       
 _________  . 
(a)   (b)  
(c)   (d)   

 

6.         _____  
 . 
(a)  (b) 
(c)  (d)  

 

7.       ______  
 
(a)  (b) 
(c)  (d)  

 

8.      
  ______  . 

 (a)   (b)   
 (c)   (d)   
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Section – B 

 Answer any 6 questions from 9 to 16. Each carries 2 scores. (6  2 = 12) 
 

9. Explain the need for social worker in school setting. 

 

10. What are the problems faced by the aged people ? 

 

11. What is empowerment ? 

 

12. Which are the four pillars of society according to structural analysis ? 

 

13. A 20 years old person went to a Psychologist to find out his I.Q. The Psychologist 

identified his mental age as 23. Find out the I.Q. of the person.  

 

14. Define Personality.  

 

15. Explain the qualities required for a good interpersonal relationship. 

 

16. Define life skills. 

 
Section – C 

 Answer any 4 questions from 17 to 21. Each carries 3 scores. (4  3 = 12) 
 

17. Prepare a Venn diagram illustrating social work and related disciplines. 

 

18. What are the roles of social worker in community setting ? 

 

19. Differentiate between society and community. 

 

20. Explain the formal means of social control. 

 

21. Prepare a chart classifying life skills. 
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Section – B 

 9  16    6  . 
2  .   (6  2 = 12) 

 

9.      . 

 

10.     ? 

 

11.    ? 

 

12.         ? 

 

13. 20       .. 
 .     23 
 .  .. . 

 

14.   ? 

 

15.         ? 

 

16.    ? 

 

Section – C 

 17  21    4  .        
3  .   (4  3 = 12) 

 

17.         
   . 

 

18.   ( )   
  ? 

 

19.      ? 

 

20.      ? 

 

21.        ? 
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Section – D 

 Answer any 3 questions from 22 to 25. Each carries 4 scores. (3  4 = 12) 
 

22. What is social capital ? Prepare a diagram illustrating channels of social capital. 

 

23. What are the causes and consequences of family disorganisation ? 

 

24. Explain the theory of hierarchy of needs proposed by Abraham Maslow with the help 

of a diagram.   

 

25. Explain different types of defense mechanism. 
 

Section – E 

 Answer any 2 questions from 26 to 28. Each carries 5 scores. (2  5 = 10) 
 

26. Why social work is considered as a profession ? 

 

27. Explain how the social reform movements took place in modern India contributed to 

the development of social work in India. 

 

28. Analyse the problem of poverty with the help of a problem tree. 
 

Section – F 

 Answer any 1 question from 29 to 30. Each carries 6 scores. (1  6 = 6) 
 

29. Every profession follows certain rules and guidelines. These rules and guidelines are 

called principles. Being a profession, social work also has certain principles. Explain 

the principles of social work.  

 

30. What is social process ? Explain different types of social process. 

______________ 
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Section – D 
 22  25    3  .        

4  .   (3  4 = 12) 
 

22.    ?     
   ? 

 
23.       

  ? 

 

24.       
    ? 

 

25.      . 
 

Section – E 
 26  28    2  .        

5  .   (2  5 = 10) 
 

26.         ? 

 

27.        
       ?  

 
28.        

 ? 
 

Section – F 
 29  30    1  .         

6 .    (1  6 = 6) 
 

29.       . 
       . 
        . 
    ?  

 

30.     ?     
 ? 

______________ 
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 

Reg. No. : ......................................  FY-44 

Name : ...........................................   
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    Maximum : 80 Scores 
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 Answer any 16 questions from 1 to 18. Each carries 1 score. (16  1 = 16) 
 

 Choose the correct answer from the options given below : 
 

1. Find the name of the anthropologist who is related with the publication of the journal 
‘Man in India’. 

 (a) T.K. Penniman (b) S.C. Roy 
 (c) L.K. Ananthakrishna Iyer (d) Verier Elwin 
 
2. “Our customs and practices are better comparing to others.” Choose the suitable 

concept relating to this opinion. 
 (a) Culture lag (b) Deculturation 
 (c) Ethnocentrism (d) Cultural relativism 
 
3. Study of the relationship between language and society 
 (a) Ethno Linguistics (b) Socio Linguistics 
 (c) Semantics (d) Linguistic determinism 
 
4. The type of residence in which the couples reside with husband’s father’s sister 
 (a) Matrilocal residence (b) Patrilocal residence 
 (c) Avunculocal residence (d) Amitalocal residence 
 
5. Family formed by the marriage of a woman with more than one man 
 (a) Polygynous family (b) Polyandrous family 
 (c) Extended family (d) Composit family 
 
 Match the Columns A, B and C suitably. 

 A B C 
6. Core tool Neolithic Period Clactonian 

7. Flake tool Mesolithic period Food Production 

8. Grinding and Polishing Lower Palaeolithic Acheulian 

9. Microlithic tool Middle Palaeolithic Azilian 
 

 Find the odd item based on the criterion given in the bracket : 
10. Doctor, Politician, Student, Daughter (Achieved Status) 
 

11. Proxemics, Haptics, Chronemics, Phonemes (Non-Verbal Communication) 
 

12. Public opinion, Scientific evidence, Social Panchayat, Customs (Customary laws) 
 

13. Magic of rain making, Magic of Successful hunting, Magic to bring death, Magic of 
Successful fishing (Productive Magic) 
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 1  18    16   .        
1  . (16  1 = 16) 

 

      . 
 

1. ‘  ’    . 
  .  

 (a) ..   (b) ..  
 (c) ..   (d)    
 

2. “     ”  
   . 

 (a)   (b)   
 (c)  (d)    
 

3.          
 (a)   (b)   
 (c)  (d)   
 

4.        
 (a)   (b)   

 (c)   (d)   
 

5.           
 (a)   (b)   

 (c)   (d)   
 

 , ,      . 
    

6.         
7.        

8. 
 
  

 
  

 

9.   
 
  

  
 

     
  : 

10. , , ,  ( )  
 

11. , , ,  (  )  
 

12.  ,  ,  ,  
( ) 

 

13.  ,   ,  
 ,    
( ) 
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 Find the pair : 
 

14. Anthropology introduced as a subject in Bombay University : 1919 

 Establishment of Anthropological Survey of India   : ......................... 

 

15. Ordered arrangement of individuals and institutions : Social Structure 

 Arrangement of activities of individuals and groups : .......................... 

 

16. Australo pithecus Africanas : Taung baby 

 Australo pithecus Afarensis : ...................... 

 

 Fill in the blank area suitable. 

17. Mutation theory was proposed by __________. 

 

18. _________ is the linguist associated with the concept ‘Universal grammer’. 

 

 Answer any 7 questions form 19 to 27. 3 scores each.  (7  3 = 21) 

19. Write the names of any three sub-fields of biological anthropology and give a brief note 
on any one among them. 

 

20. Elucidate the concepts culture trait and culture complex. Prepare a chart showing 
culture traits and culture complex by taking ‘Office’ as the main theme. 

 

21. Briefly explain the two laws of organic evolution proposed by Lamarck. 

 

22. Draw genealogical chart for the following types of marriage using Kinship symbols. 

 (a) Polygamy 

 (b) Levirate 
 

23. Give a short note on different types of reciprocity. 
 

24. What is a market ? Differentiate between temporary market and permanent market. 
 

25. Describe the concept animism. Give the name of anthropologist who stated animism as 
the primary stage of religion. 

 

26. Folklore is widely used to project and propagate different messages to public. Show 
such three situations of applying folklore in our contemporary society. 

 

27. Differentiate performing and non-performing arts with the help of examples. 
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   : 
 

14.       : 1919 
      : ......................... 
 

15.     :   
     : .......................... 
 

16.   :   
    : ...................... 
 

    . 
17.     __________. 
 

18.       _________. 
 

 19  27    7   .          

3  . (7  3 = 21) 
19.        

     .  
 

20.  ,     . 
‘ ’     ,   
    .  

 

21.       
.  

 

22.        
   . 

 (a)  
 (b)  
 

23.        .  
 

24.   ?      
.  

 

25.    .     
   .  

 

26.        
  ()  .  
      
   .  

 

27. ,       
.  
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 Answer any 7 questions from 28 to 36. 5 scores each. (7  5 = 35) 
 

28. List out different phases of the development of Indian anthropology and give 
description of any two phases. 

 
29. Differentiate between ethnology and ethnography and write the names of any two 

ethnographic studies and related anthropologists. 
 
30. Explain the important techniques used by stone age people for the preparation of tools. 
 
31. List out different properties of language and explain. 
 
32. Briefly describe the following forms of marriage : 
  Sorrorate 
  Levirate 
  Hypergamy 
  Hypogamy 
 
33. Prepare a comparative table showing any five features of primitive law and modern 

law. 
 
34. Examine any four types of dispute settlement mechanisms found in pre-literate 

societies. 
 
35. Classify different elements and sub-elements of magic with the help of a chart and 

explain any three items among them. 
 
36. Analyse the use of folk science and technology in our day-to-day life with the help of 

exmaples. 
 
 Answer any 1 question from 37 to 38 in not more than 300 words. (1  8 = 8) 
 
37. Prepare an essay covering the following areas of blood groups. 
 (a) Components of blood 
 (b) ABO blood group system 
 (c) Rh factor 
 (d) Blood group identification 
 
38. Prepare a chart showing different stages of economic development and explain the 

features of each item in detail. 
 (Hints : Hunting gathering, fishing, Pastoralism, Shifting cultivation, Agriculture) 

____________ 
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 28  36   7  . 5  
.   (7  5 = 35) 

 

28.         
    .  

 

29.    ()   ()  
       
    .  

 

30.        
.  

 

31.      .  
 

32.         : 
   
   
   
   
 

33.        
    .  

 

34.        
  .  

 

35.       
       
.  

 

36.  ,        
    .  

 

 37  38    1     
. 8 . (1  8 = 8) 

 

37.         
.  

 (a)    
 (b)        
 (c)    
 (d)    
 

38.        
  .  

 ( : , ,  ,  , 
, ) 

____________ 
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Name : .........................................   
   
 

 
   Part – III     

 ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS  
  Maximum : 80 Scores 

    Time : 2½  Hours  

    Cool-off time : 15 Minutes 
  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
    . 
      

    . 
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I. Answer all the questions from 1 to 9. Each carries 1 score.  (9  1 = 9)  

 1. If the benefits of an expenditure lasts for more than one year, it is treated as ____.  

  (a) capital  

  (b) liabilities 

  (c) assets 

  (d) revenue 

 

 2 A Laptop purchased by the owner of a business for his personal use is not 

recorded in the books of the business, because of _____ concept.’ 

  (a) Money measurement 

  (b) Business entity 

  (c) Dual aspect 

  (d) Matching concept 

 

 3 _______ provides the evidence for each transactions in a business. 

  (a) Source document 

  (b) Revenue 

  (c) Expenses 

  (d) Assets 

 

 4 The transactions recorded in pass book are same as that of _______. 

  (a) Bank column of Cash book  

  (b) Cash column of Cash book 

  (c) Receipts and Payments  

  (d) None of these 
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I. 1  9    . 1  . (9  1 = 9)  

 1.       , 

 ____  .  

  (a)    

  (b)   

  (c)   

  (d)   

 

 2        

    _____ .  

  (a)    

  (b)     

  (c)    

  (d)   

 

 3 _______     .  

  (a)   

  (b)  

  (c)  

  (d)   

 

 4     _______  .  

  (a)     

  (b)     

  (c)    

  (d)  
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 5.  Credit sales to Sukumar for ` 35,000 was debited to Sukumar account with  

` 3,500. Identify the type of error.    

  (a) Error of principle 

  (b) Error of omission 

  (c) Compensating error 

  (d) Error of commission 

 

 6 Rent paid is recorded in _______, while preparing financial statements at the end 

of the accounting period. 

  (a) Trading account 

  (b) Profit and loss account 

  (c) Balance sheet 

  (d) All of these  

 

 7.  _______ are created in a database to store data. 

  (a) Reports  

  (b) Queries 

  (c) Tables 

  (d) Forms 

 

 8.  _______ is an interactive link between the user and the database.  

  (a) Reporting system 

  (b) Front-end interface 

  (c) Back-end database 

  (d) Data Processing 
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 5.  35,000        

3,500   .    .  

  (a)    

  (b)   

  (c)    

  (d)   

 

 6      

   _______  .  

  (a)   

  (b)    

  (c)   

  (d)  

 

 7.  _______    .  

  (a)   

  (b)   

  (c)   

  (d)   

 

 8.  _______      

.  

  (a)   

  (b)    

  (c)     

  (d)    
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 9.  Complete the diagram : 

                                                   
  

  (a) Reporting  

  (b) Recording  

  (c) Processing 

  (d) None of these  

 

II. Answer any 6 questions from 10 to 16. Each question carries 2 scores : (6  2 = 12) 

 10. Fill the table on the basis of the hint given below : 

  Hint :  

 Item Trading & Profit/Loss A/c Balance Sheet 

Outstanding 
Salaries 

Added to salaries on debit 
side of profit/loss A/c  

Liabilities side 

  Question :    

Items Trading & Profit/Loss A/c Balance Sheet 

(a) Commission 
received in advance 

? ? 

(b) Depreciation on 
furniture 

? ? 

 

 11. Identify the accounting principle related to the following : 

  (a) Assets are recorded at their purchase price. 

  (b) All transactions in a business should be supported by some documents.   

 

  12. Write any two differences between capital expenditure and revenue expenditure.  

 

 13. Enter the following transactions in a suitable subsidiary book. 

  2019 March 10  

  Purchased goods from Royal Agencies, Madras 

  10 Books @ ` 250 each. 

  20 Pens @ ` 145 each. 

 

Data 
 

? 
 

Information 
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 9.     : 

                                                   
 

 
  (a)   
  (b)   
  (c)  

  (d) . 
 

II. 10  16    6  .     

2   :    (6  2 = 12) 

 10.        : 
   :  

       

 
  

 
  
  

 
  

   :    

   
 

  

(a)   
  ? ? 

(b)  
  ? ? 

 

 11.       : 
  (a)     . 
  (b)       

.  
 

  12.       .  
 

 13.      
.  

  2019  10  

   ,    : 
  10  250    
  20  145   

 

 
 

? 
 

 
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 14. Jithu received a bill from his debtor Arya for ` 24,000 on 1st May 2019 for a 

period of 3 months. He discounted the bill with his bank on the same day at the 

rate of 6% p.a. Find out the amount of discount.   

 

 15. A bank reconciliation statement prepared by Nanda is given below. Correct it, if 

there is any mistake.   

Bank Reconciliation Statement 

Particulars 

(+) 

Amount 

` 

(–) 

Amount 

` 

Balance as per pass book 4,500  

Bank charges debited to pass book 200  

Interest credited in pass book  300 

Balance as per cash book  4,400 

 4,700 4,700 

   

 16. Prepare a Trial balance from the following items :  

       ` 

Purchase  40,000 

Sales  64,000 

Capital  50,000 

Furniture  20,000 

Rent paid 5,000 

Salaries  9,000 

Drawings  10,000 

Building  30,000 
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 14. 2019  1 3    24,000    
      .  
    6%     
 .   .  

 

 15.        
.    .  

   

  

(+)  

 

` 

(–) 

 

` 

  4,500  

     200  

     300 

    4,400 

 4,700 4,700 

   
 16.        :  

      ` 

  40,000 

  64,000 

  50,000 

  20,000 

   5,000 

  9,000 

 10,000 

  30,000 
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III. Answer any 5 questions from 17 to 22. Each question carries 3 scores : (5  3 = 15) 

 17. Classify the following reserves into Revenue reserve and Capital reserve. 

  (a) Profit prior to incorporation 

  (b) Dividend equalization reserve 

  (c) Workman compensation fund  

  (d) Profit on sale of fixed assets 

  (e) Investment fluctuation fund 

  (f) Premium on issue of shares 

 

 18. Complete the journal entries given below : 

Journal 

Date Particulars LF Debit 

` 

Credit 

` 

2018 Dec.   1 _______ Dr. 

 To Sunil A/c. 

(purchase goods from Sunil) 

 10,000 

 

 

10,000 

“   10 Drawings A/c. Dr. 

 To purchase 

(__________) 

 2,000  

2,000 

“   15 Cash A/c. Dr. 

 To ________. 

(sold old machinery) 

 15,000  

15,000 
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III. 17  22    5   

.  3   :   (5  3 = 15) 

 17.       

   .  

  (a)     

  (b)     

  (c)     

  (d)     

  (e)     

  (f)      

 

 18.      : 

 

    

 

 

` 

 

` 

2018    1 _______ Dr. 

 To  A/c. 

(   

 ) 

 10,000 

 

 

10,000 

“   10   A/c. Dr. 

 To  A/c. 

(__________) 

 2,000  

2,000 

“   15  A/c. Dr. 

 To ________. 

(  ) 

 15,000  

15,000 
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 19. Prepare a statement of Profit or Loss from the following information :  

  Capital at the end of the year ` 1,00,000. 

  Capital in the beginning of the year ` 1,50,000 

  Drawings made during the year ` 75,000 

  Additional capital introduced ` 10,000. 

 

 20. Identify the basic accounting term related with the following statements :  

  (a) Deduction given to the debtors in amount due, if the amount is paid before 

due date. 

  (b) Excess of revenue over its related expenses during an accounting period.  

  (c) Person who owes an amount to the business for receiving some service 

from the business. 

   

 21. Write any three limitations of computer system.  

 

 22. Identify the suitable term from the following, in relation to bill of exchange and 

complete the table.     

Statements Term 

(a) Payment of bill before the date of 

maturity 

(a) ? 

(b) Extension of time for payment of bill  ? 

(c) Authentication of the dis-honour of bill   ? 
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 19.         

 :  

     ` 1,00,000. 

    ` 1,50,000 

      ` 75,000 

      ` 10,000. 

 

 20.       

 :  

  (a)       

 . 

  (b)      

 .  

  (c)      

    .  

   

 21.      .  

 

 22.        

  .   

    

(a)     

   

(a) ? 

(b)    

   

 ? 

(c)    

.  

 ? 
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IV. Answer to the question 23, which carries 4 scores.  (1  4 = 4) 

 23. Match the Column A with Column B.  

A B 

(a) Bad debts (1) Accrued income 

(b) Income earned but not received  (2) Increase the capital 

(c) Manager’s commission (3) Amount unable to realize from the debtors 

(d) Interest on capital (4) Percentage on net profit 

 

V. Answer any 3 questions from 24 to 27. Each question carries 4 scores. (3  4 = 12) 

 24. Prepare accounting equation on the basis of the following transactions : 

  (a) Started business with cash ` 80,000 and furniture ` 20,000. 

  (b) Purchased goods for ` 25,000. 

  (c) Sold goods on credit ` 24,000 (costing ` 20,000) 

  (d) Paid rent ` 1,000. 

 

 25. Explain the objectives of accounting.  

  

 26. Modern furniture received an order for making a dining table on 10th May, 2019. 
They complete the work on 20th June, 2019. The table was delivered to the 
customer on 25th June, 2019, but the customer made the payment on 30th June, 
2019. 

  (a) Identify the date on which this transaction is recorded in the account books 
of modern furniture.  

  (b) Name the accounting principle on the basis of which they recorded the 
transaction on that date. 

  (c) Explain that accounting principle.   
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IV. 23-    . 4 . (1  4 = 4) 

 23.  ‘’  ‘’    :  

A B 

(a)   (1)    

(b)    
  

(2)  .  

(c)    (3)    
   

(d)    (4)      

 

V. 24  27    3   . 

4  .    (3  4 = 12) 

 24.       
 : 

  (a) 80,000   20,000    
  . 

  (b) 25,000    

  (c) 24,000     (   20,000 ) 

  (d)   1,000   

 

 25.   .  

  

 26.       2019 
  10  .  2019  20   . 2019 
 25    , ,   
  2019  30 .  

  (a)       
  .  

  (b)      
  .  

  (c)    .  
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 27. The following information are related to AM Associates for the year 2018-19.    

                     ` 

Opening stock 25,000 

Purchases 55,000 

Sales 1,50,000 

Return inwards  2,500 

Return outwards 3,500 

Wages 20,000 

Factory rent  15,000 

Closing stock  14,000 

  (a) Compute the cost of goods sold. 

  (b) Calculate the Gross Profit.  

 

VI. Answer any 4 questions from 28 to 32. Each question carries 5 scores : (4  5 = 20) 

 28. Write rectification entries for the following errors : 

  (a) Repair to machinery ` 800 debited to machinery account. 

  (b) Purchase of furniture for ` 6,000 was posted to the purchase account as  

` 600. 

  (c) Purchase return book overcast by ` 500. 

  (d) Credit sales to Basheer ` 700 recorded through purchase book. However in 
Basheer A/c, it was correctly debited.   

  (e) Depreciation on building ` 3,000 is not recorded anywhere.   

 

 29. On 1st June, 2018 Raja sold goods to Soja for ` 20,000 and drew upon her a bill of 
exchange for 3 months. Soja accepted the bill and returned it to Raja.  

  On maturity date the bill was dishonoured for non-payment.  

  (a) Pass journal entries to record the above transactions in the book of Raja.  

   (b) Write any two differences between bill of exchange and promissory note.  
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 27. ..  2018-19    
.      

 ` 
  25,000 
  55,000 
 1,50,000 
   2,500 
   3,500 
  20,000 
   15,000 
  14,000 

  (a)    . 
  (b)   .  
 

VI. 28  32    4   
. 5   :   (4  5 = 20) 

 28.      
  : 

  (a)    800    
 .  

  (b)   6,000    600  
.  

  (c)    500   .  

  (d)  700       
.      
.  

  (e)   3,000   
.  

 

 29. 2018  1   20,000     
  3      
.        
.      
.  

  (a)      
  .  

   (b)        
.  
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 30. Mr. Surjith did not keep his books of accounts under double entry system. The 

following information are available from his books for the year ended 31st March, 

2018. 

  Creditors on 1st April, 2017 ` 28,000 

  Creditors on 31st March 2018  ` 14,000 

  Cash paid to creditors  ` 40,000 

  Discount received from creditors  ` 3,400 

  Cash purchase  ` 65,000 

  (a) Which account is to be prepared to find out the amount of credit purchase ?  

  (b) Find out the total purchase during the period.   

 

 31. Kerala Traders purchased a machinery for ` 50,000 on 1st Jan., 2015. They 

purchased another machine on 1st July, 2017 for ` 40,000. Depreciation is 

provided at 10% p.a. on original cost. Prepare machinery account for 4 years, 

assuming that accounts are closed on 31st December every year.  

 

 32. Prepare a bank reconciliation statement as on 31st march 2017, from the following 

information :   

  (a) Balance as per cash book ` 4,500. 

  (b) Cheques issued for ` 12,000, but presented only for ` 3,800. 

  (c) Cheques deposited into bank for ` 7,400 but cheques for ` 3,600 was 

collected by the bank.  

  (d) Dividend collected and credited by the bank ` 700. 

  (e) Sajan, a customer paid ` 2,000 directly into the bank account.  
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 30.       

. 2018  31     

     .  

  2017  1    ` 28,000 

  2018  31   ` 14,000 

      ` 40,000 

        ` 3,400 

      ` 65,000 

  (a)       

 ?  

  (b)        

.  

 

 31.   2015  1  50,000    . 

2017  1  40,000    .   

10%    .   

 31   -  

   .  

 

 32.     2017  31  

     :   

  (a)    ` 4,500. 

  (b) 12000    3,800   

  . 

  (c) 7,400     3,600  

   .  

  (d)      , 700 .  

  (e)   , 2,000     

.  
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VII. Answer any 1 question from 33 to 34, which carries 8 scores : (1  8 = 8) 

 33. The following is the trial balance of Kanmani Traders for the year ended  
31st March, 2018.  

              (Trial Balance as on 31st March, 2018) 

Account Title 
Debit 

` 

Credit 

` 

Capital   75,000 

Purchases  24,000  

Rent  2,400  

Wages  3,200  

Sundry debtors  14,000  

Sundry creditors   16,000 

Drawings  4,000  

Sales   38,000 

Stock  26,000  

Return inwards  2,000  

Return outwards   1,000 

Furniture  8,000  

Machinery  36,000  

Cash in hand  4,400  

Salaries  6,000  

 1,30,000 1,30,000 
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VII. 33  34    1   .                 

8  :     (1  8 = 8) 

 33.   2018  31     
  .  

              (2018  31   ) 

  
 

` 

 

` 

   75,000 

  24,000  

  2,400  

   3,200  

  14,000  

   16,000 

 4,000  

  38,000 

 26,000  

   2,000  

   1,000 

  8,000  

 36,000  

  4,400  

 6,000  

 1,30,000 1,30,000 
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  Adjustments : 

  (i) Closing stock was valued at ` 35,000 

  (ii) Salaries prepaid ` 800 

  (iii) Depreciate furniture and machinery at 5% p.a. 

  (iv) Wages outstanding ` 600. 

  You are required to answer the following questions : 

  (a) Financial statements include _______ and _______. 

  (b) Prepare the financial statements of Kanmani Traders for the year ended  

31st March, 2018.  

  

 34. Cash transactions of Kukku Ltd. for the month of March 2018 are given below :  

  ` 

March 1 Cash in hand 7,000 

 Cash at bank 4,000 

03 Cash purchase  2,400 

05 Paid wages 400 

10 Cash sales 16,000 

15 Deposited into bank  12,000 

20 Sold goods to Sajeer and received cheque  2,000 

22 Paid rent by cheque  2,400 

25 Cheque received from Sajeer deposited into bank  –– 

28 Draw from bank for personal use  2,000 

30 Bought goods by cheque 2,000 

" Received commission 3,500 

" Paid insurance premium 1,200 

  (a) Name the suitable type of cash book to record the above transactions. 

  (b) Prepare that suitable cash book.  

_______________ 
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   : 

  (i)    35,000  .  

  (ii)    ` 800. 

  (iii)   5%    
.  

  (iv)    600   

      : 

  (a)   _______  _______  .  

  (b)   2018  31    
  .  

  

 34.   2018     
 :  

  ` 

 1   7,000 

    4,000 

03   2,400 

05    400 

10   16,000 

15    12,000 

20        2,000 

22     2,400 

25      
  

–– 

28    
    

2,000 

30      2,000 

"    3,500 

"      1,200 

  (a)     
 .  

  (b)    .  
_______________ 
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Reg. No. : .....................................  FY-50 

Name : ..........................................   
   
 

 
   Part – III     

 ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 
  Maximum : 60 Scores 

 Time : 2 Hours  
Cool-off time : 15 Minutes 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
    . 
      

    . 
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I. Answer all questions from 1 to 11. Each carries 1 score.  (11  1 = 11) 

1. Writing off the cost of intangible assets like patent, copy right etc. is known as _____. 

 (a) Depreciation  

 (b) Depletion 

 (c) Amortization 

 (d) Obsolescence 

 

2.  The maker of a bill of exchange is known as _____. 

 (a) Drawee  

 (b) Payee 

 (c) Drawer 

 (d) None of these  

 

3.  _____ is an example of direct expense. 

 (a) Salary  

 (b) Wages 

 (c) Rent 

 (d) Office expense 

 

4.  The person who owes money to the business is known as _____. 

 (a) Debtor  

 (b) Creditor 

 (c) Partner 

 (d) None of these 

 

5.  A series of operation in a certain order to achieve a desired result is known as _____. 

 (a) Procedure  

 (b) Data 

 (c) Connectivity 

 (d) Decisions 
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I. 1   11    . 1  . 

      (11  1 = 11) 

1. ,       
  _____  .  

 (a)   

 (b)  

 (c)  

 (d)  

 

2.      _____  .  

 (a)   

 (b)  

 (c)   

 (d)  

 

3.      _____. 

 (a)   

 (b)  

 (c)  

 (d)   

 

4.       _____ . 

 (a)   

 (b)   

 (c)  

 (d)  

 

5.         
    _____  .  

 (a)   

 (b)  

 (c)  

 (d)   
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6.  Multiple types of taxes in goods and services were abolished through the introduction 

of _____. 

 (a) VAT  

 (b) GST 

 (c) Octroi 

 (d) Income tax  

 

7. In case of Bill of Exchange, _____ additional days are added with its period to arrive at 

the maturity date. 

 (a) 5 days  

 (b) 3 days  

 (c) 2 days  

 (d) 1 day 

 

8. Which among the following is not an advantage of computerized accounting system ?   

 (a) Speed  

 (b) Cost of training 

 (c) Reliability 

 (d) Accuracy 

 

9. The database element which enables to retrieve data and information :   

 (a) Tables  

 (b) Queries 

 (c) Forms 

 (d) Report 

 

10.  If the salary paid during an year is ` 5,000 and outstanding salary at the end of the year 

is ` 2,000, then, the amount of salary to be debited to profit and loss account is :    

 (a) 3,000  

 (b) 5,000 

 (c) 2,000 

 (d) 7,000 
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6.      _____  
.  

 (a)  

 (b) ...  

 (c)   

 (d)   
 

7.        
_____    .  

 (a) 5   

 (b) 3  

 (c) 2  

 (d) 1  

 

8.       
  ?  

 (a)   

 (b)    

 (c)  

 (d)  

 

9.       
 ?   

 (a)   

 (b)   

 (c)  

 (d)  
 

10.      5,000     
 2,000      
  :    

 (a) 3,000  

 (b) 5,000 

 (c) 2,000 

 (d) 7,000 
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11.              This symbol represents a _____ in entity relationship model.   

 

 (a) Entity  

 (b) Weak entity 

 (c) Relationship 

 (d) Attribute  

 

II. Answer any 4 questions from 12 to 16, each carries 2 scores : (4  2 = 8) 

12. Give the adjusting journal entries for the following items :  

 (a) Bad debt 

 (b) Salary outstanding  

 

13. List out any four limitations of computerized accounting systems.  

 

14. Give any two situations which increases the pass book balance while preparing a bank 

reconciliation statement.   

 

15. Name any four special journals used in large business firm.  

 

16. From the given items list out ‘Entities’ and ‘Attributes’.  

 Employee 

 Date of Birth 

 ABC Company Ltd. 

 Employee Code.    

 

III. Answer any 5 questions from 17 to 22, each carries 3 scores : (5  3 = 15) 

17. What are the objectives of accounting ? (any three) 

 

18. Give journal entries for the following transactions :  

 (a) Sold goods to Midhun ` 18,000. 

 (b) Paid Rent ` 10,000. 

 (c) Withdrew cash from business for personal use ` 4,000. 
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11.                     _____  
 .  

 

 (a)   

 (b)   

 (c)   

 (d)  

 

II. 12  16    4   .             

2  .   (4  2 = 8) 

12.       :  

 (a)  

 (b)    
 

13.       
 .  

 

14.        
     .  

 

15.        
 .  

 

16.    ‘’, ‘’ .   
  

  

 ABC   
     

 

III. 17  22    5  .          

3  .   (5  3 = 15) 

17.    ? ( 3 ) 
 

18.       :  

 (a)  18,000   . 

 (b) 10,000   .  

 (c)   4,000    .  
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19. Mr. Anand an accountant of a business identified the following errors in their book of 

accounts. Name the type of error occurred.  

 (a) Payment to supplier of goods for ` 30,000 is wrongly posted to the debit of their 

account as ` 3,000. 

 (b) Credit sales to Majeed ` 25,000, not entered in the sales book. 

 (c) Purchase of machinery for ` 50,000 is debited to purchases account.  

 

20. Compute the cost of goods sold from the following information using suitable formula :  

                           ` 

 Opening stock  – 50,000 

 Purchases    – 1,50,000 

 Closing stock  – 40,000 

 Wages   – 80,000 

 Carriage inwards – 4,000 

 

21. Briefly explain the components of a Computer. (any three) 

 

22. Give the expansion of DBMS and list out any four its components.  

 

IV. Answer any 2 questions from 23 to 25, each carries 4 scores : (2  4 = 8) 

23. From the following information find out the amount of credit sales.  

                 ` 

 Cash received from Debtors  –  60,000 

 Debtors as on 1-1-2016  –  40,000 

 Debtors as on 31-12-2016  –  50,000 

 Bad debts    – 5,000 

 Discount allowed  – 4,000  
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19.         
    .    
   .  

 (a)    30,000    
  3,000  .  

 (b)  25,000       
 . 

 (c) 50,000       
.  

 

20.         
     :  

                           ` 
   – 50,000 

  (Purchases)  – 1,50,000 

   – 40,000 

     – 80,000 

    – 4,000 

 (Carriage inwards) 
 

21.     (components)  . ( 
) 

 

22. DBMS    .    
.  

 

IV. 23  25    2  .          

4  .   (2  4 = 8) 

23.       (credit sales)  
.   

                  ` 
     –  60,000 

 1-1-2016   –  40,000 

 31-12-2016    –  50,000 

    – 5,000 

   – 4,000  
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24. State which principles / concepts are applicable in the following cases. 

 (a) Creation of provision for doubtful debts. 

 (b) Capital brought by the owner is treated as a liability. 

 (c) Method of calculation of depreciation is not changing year after year. 

 (d) Accounting should focus on material facts.   

 

25. Give rectification entries for the following transactions :  

 (a) Salary paid to Ramu ` 5,000 was debited to his personal account. 

 (b) Credit sales to Sajan ` 10,000 was recorded as ` 1,000 in sales book.  

 (c) Credit purchase from Zakariya ` 20,000 were not recorded.    

 (d) Cash received from Sakeer ` 4,000 was wrongly posted to Shaheer’s account.  

 

V. Answer any 2 questions from 26 to 28, each carries 5 scores : (2  5 = 10) 

26. Mr. Prakash the Chief Accountant of a business identified some differences in their 

cash book balance and bank passbook balance as on June 30, 2017. You are required to 

prepare a bank reconciliation statement to reconcile the balances. 

 (a) Balance as per cash book ` 64,000. 

 (b) Cheque issued but not presented for payment ` 5,000. 

 (c) Bank charges debited by bank ` 500. 

 (d) A cheque of ` 10,000 was deposited but not collected by bank. 

 (e) A customer directly deposited ` 3,000 in the bank.  

 (f) Bank directly collected the dividend and credited to bank account ` 4,000.  

 

27. On July 1, 2014 Elite Printers purchased a machinery for ` 3,00,000 and spent ` 10,000 

for its installation. It was decided to provide depreciation @ 10% p.a. on straight line 

method. Prepare machinery account for first 4 years. Assuming that books are closed on 

31st December every year.   

 

28. Deepak sold goods to Ramesh for ` 20,000 on January 13, 2016 and drew a bill payable 

after two months. Ramesh accepted the bill and returned to Deepak. On January 20, 

Deepak discounted the bill with his bank for ` 19,500. The bill was dishonoured on the 

due date. Pass journal entries in the books of Deepak.  
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24.      /  
 .  

 (a)    . 
 (b)      . 
 (c)      

. 
 (d)    .   
 

25.       :  
 (a)  5,000      

  .  
 (b)  10,000       

  1,000 .  
 (c)    20,000     

.  
 (d) 4,000         

.  
 

V. 26  28    2  .          

5   :   (2  5 = 10) 
26.         2017, 

 30        
 .     
      
 .  

 (a)    – 64,000  
 (b) 5,000     . 
 (c)     500   .  
 (d)   10,000     

 .  
 (e)     3,000   .  
 (f)   4,000      .  
 

27.   2014  1  3,00,000    . 10,000 
   . 10%    
   .   
31       4   
 .  

 

28.  2016  13   20,000   .   
      .  20    
   19,500  .     
.     .  
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VI. Answer any 1 question from 29 to 30. Each carries 8 scores : (1  8 = 8) 

29. From the following Trial Balance and additional information given in respect of                  

M/s. Kochin Traders, prepare Trading and Profit and Loss account for the year ended 

31st March, 2018.   

Trial Balance as on 31st March, 2018 

Particulars 
Debtors 

(`) 
Particulars 

Creditors 

(`) 

Stock on 1-4-2017 12,800 Capital  50,000 

Cash  18,000 Creditors  18,400 

Wages  35,000 Loan  18,000 

Drawings  3,000 Sales  2,23,500 

Debtors  20,000 Purchases returns   4,100 

Purchases  1,45,800 Discount  800 

Land and Building 45,000 Bills payable  6,500 

Sales returns  8,400   

Salary  10,000   

Bad debt  1,000   

Insurance  8,300   

Bills receivable  14,000   

 3,21,300  3,21,300 

 Additional Information :  

 (a) Salary outstanding ` 1,000. 

 (b) Provide 5% on debtors for provision for doubtful debts. 

 (c) Insurance prepaid ` 2,500. 

 (d) Depreciation on Land and Building @ 5%. 

 (e) Closing stock was ` 14,200. 
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VI. 29  30    1  .                          

8  :     (1  8 = 8) 

29.         2018 
 31          
     .    

Trial Balance as on 31st March, 2018 

Particulars 
Debtors 

(`) 
Particulars 

Creditors 
(`) 

1-4-2017   12,800   50,000 

 18,000  18,400 

  35,000  18,000 

 3,000   2,23,500 

 20,000  
  

4,100 

 1,45,800  800 

  
 

45,000    6,500 

  8,400   

 10,000   

  1,000   

 8,300   

  14,000   

 3,21,300  3,21,300 

   :  

 (a)   1,000 .  

 (b)   (Provision for doubtful debts)  5% 
. 

 (c)    2,500 . 

 (d)      5% .  

 (e)    14,200 .  
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30. Mr. Sharma, the petty cashier of Megha Traders received ` 1,500 on June 01, 2018 

from the head cashier. For the month, details of petty expenses are listed as under :    

Date 
Particulars Amount 

(`) 

2018 June   

02 Postal stamps 35 

03 Auto charge 50 

05 Refreshments 85 

06 Auto fare 60 

07 Telegram 42 

08 Bus fare 35 

08 Cartage 48 

11 Stationery  25 

12 Paper, Pen, Pencil 85 

13 Refreshments 40 

18 Photo stat charges 38 

21 Courier services 85 

27 Postage stamps 45 

30 Taxi fare to Manager 100 

 Prepare a Petty Cash Book.  

___________ 
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30.      . 2018    

  1500   .    

  :             

Date 
Particulars Amount 

(`) 

2018 June   

02    35 

03   50 

05  85 

06   60 

07  42 

08    35 

08  48 

11   25 

12 , ,   85 

13  40 

18    38 

21    85 

27    45 

30     100 

     .   

___________ 
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    . 
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 Answer all questions from 1 to 7. Each carries 1 Score. (7  1 = 7) 

1. The gas law for the mathematical expression P  T is  

 (a) Boyle’s law (b) Charles’ law 

 (c) Avogadro law (d) Gay Lussac’s  law  

 

2. The number of  electrons in benzene (C6H6) molecule is  

 (a) 6  (b) 3 

 (c) 12 (d) 10 

 

3. The symbol H
3
1 denotes  

 (a) Protium   (b) Deuterium 

 (c) Tritium  (d) Heavy hydrogen  

 

4. An intensive property is  

 (a) Mass   (b) Temperature  

 (c) Volume (d) Enthalpy 

 

5. Modern periodic table is based on  

 (a) Atomic number   (b) Atomic weight  

 (c) Valency  (d) Density  

 

6. Inorganic benzene is  

 (a) B2H6  (b) B3N3H6 

 (c) BF3 (d) H3BO3 

 

7. The stock notation for FeO is  

 (a) Fe (III) O  (b) Fe (I) O 

 (c) Fe (IV) O  (d) Fe (II) O  
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 1  7    . 1  . 

     (7  1 = 7) 

1. P  T      .  

 (a)   (b)   

 (c)   (d)   

 

2.  (C6H6)     .  

 (a) 6  (b) 3 

 (c) 12 (d) 10 

 

3. H
3
1    

 (a)    (b)   

 (c)  (d)   

 

4.     

 (a)     (b)  

 (c)  (d)  

 

5.      

 (a)    (b)    

 (c)  (d)  

 

6.     

 (a) B2H6  (b) B3N3H6 

 (c) BF3 (d) H3BO3 

 

7. FeO     

 (a) Fe (III) O  (b) Fe (I) O 

 (c) Fe (IV) O  (d) Fe (II) O  
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 Answer any 10 questions from 8 to 20. Each carries 2 Scores. (10  2 = 20) 

8. Identify the compounds responsible for temporary hardness of water.  

 

9. Write the bond line formula for the following compounds :  

 (i) 2-methyl hexane  

 (ii) Pent-2-ene 

 

10. State law of conservation of mass.  

 

11. A redox reaction is given below :  

  CuO + H2  Cu + H2O 

 (i) Identify the oxidising agent.  

 (ii) Identify the reducing agent.   

 

12. What do you mean by acid rain ? 

 

13. Write the chemical formula for the following compounds :  

 (i) Washing Soda  

 (ii) Plaster of Paris 

 

14. List any two similarities between Lithium (Li) and Magnesium (Mg).  

 

15. Find the number of electrons and neutrons in 
80
35Br and 

32
16S. 

 

16. Identify the type of hybridisation in BeCl2 and SF6. 
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 8  20    10  . 

2  .  (10  2 = 20) 

8.       

 .  

 

9.        :  

 (i) 2-  

 (ii) -2- 

 

10.    .  

 

11.       :  

  CuO + H2  Cu + H2O 

 (i)    .  

 (ii)    .   

 

12.      ? 

 

13.     :  

 (i)    

 (ii)    

 

14.  (Li),  (Mg)   2  .   

 

15. 
80
35Br , 

32
16S       

.  

 

16. BeCl2, SF6    .  
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17. What is the effect of pressure change for the equilibrium ? 

  CO + 3H2   CH4 + H2O. 

 

18. Find the empirical formula  

 (i) C2H4Cl2 

 (ii) C4H10 

 

19. Write any two uses of dihydrogen.  

 

20. (a) Find the oxidation state of Mn in KMnO4.  (1) 

 (b) Find the oxidation state of Cr in K2Cr2O7.  (1) 

 [Hint (i) Oxidation state of ‘K’ is +1 

  (ii) Oxidation state of ‘O’ is –2] 

 

 Answer any 7 questions from 21 to 29. Each carries 3 Scores. (7  3 = 21) 

21. Write any three postulates of Bohr’s atom model.  

 

22. Complete the table :  

  

Atomic Number Electronic 

Configuration  

Block  

(i) 5 __________ P 

(ii) 11 1S2 2S2 2P6 3S1 _________ 

(iii) _________ [Ar] 3d1 4S2 d 



FY-64  7 P.T.O.  

17. CO + 3H2   CH4 + H2O    

  ? 

   

 

18.   .  

 (i) C2H4Cl2 

 (ii) C4H10 

 

19.   2  .  

 

20. (a) KMnO4  Mn   . (1) 

 (b) K2Cr2O7  Cr   .  (1) 

 [ : (i) ‘K’   +1 .  

  (ii) ‘O’   –2 .] 

 

 21  29    7  .                

3  .  (7  3 = 21) 

21.     3  .  

 

22.   :  
  

   
  

 

(i) 5 __________ P 

(ii) 11 1S2 2S2 2P6 3S1 _________ 

(iii) _________ [Ar] 3d1 4S2 d 
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23. (a) What do you mean by global warming ?  (2) 

 (b) Give any one method to reduce global warming.  (1) 

 

24. Identify the type of structural isomerism shown by the following pairs of compounds :  

 (a) CH3 – CH2 – CH2 – CH3 & CH3 – CH 
|   

CH3

 – CH3 

 (b) CH3 – CH2 – CH2 – OH & CH3 – CH
|  

OH

 – CH3 

 (c) CH3 – CO – CH3  & CH3 – CH2– CHO 

 

25. (a) Write ideal gas equation.  (1) 

 (b) Calculate the volume occupied by 0.2 moles of CO2 gas at 31 C and 1 bar 

pressure.  

  (R = 0.083 bar L/k/mol) (2) 

 

26. Define the following concepts of acids and bases :  

 (a) Arrhenius concept    (1) 

 (b) Bronsted-Lowry concept    (1)  

 (c) Lewis concept    (1) 

 

27. (a) Identify the simplest boron hydride.   (1) 

 (b) Draw its structure.    (2) 

 

28. (a) Write the molecular orbital configuration of carbon molecule (C2). (1) 

 (b) Calculate the bond order of C2.    (2) 

  (atomic number of C = 6)  

 

29. (a) What is hydrogen bond ?    (1) 

 (b) Identify the type of hydrogen bonding in the following compounds :  (2) 

  (i) Alcohol  

  (ii) O-nitro phenol  
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23. (a)       ?  (2) 

 (b)   1  . (1) 

 

24.       
   :  

 (a) CH3 – CH2 – CH2 – CH3 & CH3 – CH 
|   

CH3

 – CH3 

 (b) CH3 – CH2 – CH2 – OH & CH3 – CH
|  

OH

 – CH3 

 (c) CH3 – CO – CH3  & CH3 – CH2– CHO 

 

25. (a)    . (1) 

 (b) 31 C  1 bar   0.2   CO2   
.  

  (R = 0.083 bar L/k/mol) (2) 
 

26.      
 :  

 (a)      (1) 

 (b)  -    (1)  

 (c)      (1) 

 

27. (a)      . (1) 

 (b)   .    (2) 

 
28. (a)   (C2)    . (1) 

 (b) C2   .   (2) 

  (C    = 6)  

 

29. (a)    ?   (1) 

 (b)       
  :    (2) 

  (i)   
  (ii) O-   
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 Answer any 3 questions from 30 to 33. Each carries 4 Scores. (3  4 = 12) 

30. Write the products of the following reactions :  

 (a) CH3 – CH = CH2 + H2 
Ni

    ?  

 (b) 2 CH3Br 
Na


dry ether

 ? +  2NaBr 

 (c) 
  
+ CH3Cl 

Anhyd  AlCl3
  ? + HCl 

 (d) CH3 – CH = CH2 
HBr

 ? (major product) 

 

31. State and explain Hess’s law.  

 

32. Write the IUPAC names of the following compounds :  

 (a) CH3 – CH 
|   

CH3

 – CH2 –  CH2 – CH 
|   

CH3

 – CH2 – CH3 

 (b) CH2 = CH – CH2 – CH3 

 (c)
  

 (d) CH3 – CH2 – CH 
|   
OH

 – CH2 – CH3 

 

33. (a) Write a short note on any two quantum numbers.  (3) 

 (b) Find the n and l values of 4S orbital.  (1) 

____________ 
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 30  33    3  .                

4  . (3  4 = 12) 

30.      :  

 (a) CH3 – CH = CH2 + H2 
Ni

    ?  

 (b) 2 CH3Br 
Na


 

 ? +  2NaBr 

 (c) 
  
+ CH3Cl 

  AlCl3
  ? + HCl 

 (d) CH3 – CH = CH2 
HBr

 ? ( ) 

 

31.    .  

 

32.    IUPAC   :  

 (a) CH3 – CH 
|   

CH3

 – CH2 –  CH2 – CH 
|   

CH3

 – CH2 – CH3 

 (b) CH2 = CH – CH2 – CH3 

 (c)
  

 (d) CH3 – CH2 – CH 
|   
OH

 – CH2 – CH3 

 

33. (a)  2      . (3) 

 (b) 4S  n, l   . (1) 

____________ 
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